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Concepts

EFFECTIVENESS
* We do the right things

— We validate and verify the product against its
Intended used

EFFICIENCY
 We do the things right

— We validate and verify the product against the
requirements



One view

Business
— Feature Hit Rate
— Business case accuracy
— Estimate accuracy (early phases>>deliver, cost, lead time, scope)
— Proof of concept, Prototypes, Trials (?)
— Won/lost Tenders
— Orders Booked
— Product contribution
— Portfolio Productivity Index
Time
— Leadtime (Feature, Release, Mass deployment)
— Responsiveness to market needs
— Flexibility

Costs
— Release Project Cost
— Feature cost
— Throughput (#Feature/budget)
— aCoS

Quality
— Upgrading Failure Rate
— Fault Slip Through (Development -> Release, Release -> Deployment)
— Customer Satisfaction Index
- ISP
— Long Duration Emergencies



Another view

« EFFECTIVENESS: we timely invest into the right things
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Orders Booked
Product Contribution
Portfolio Productivity Index (covers Feature Hit Rate, Business case accuracy)

Customer Exposure of new ideas (Proof of concept, Prototypes, Trials: is not a
KPI, but part of our WoW, enabler)

« EFFICIENCY: produce functionality in the most efficient way
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Throughput (#Feature F4/quarter, #Features/budget)

Estimate accuracy (early phases>>deliver, cost, lead time, scope)
Release Project Cost

Feature cost

Costs of Poor Quality (aCoS, Upgrading Failure Rate, Fault Slip Through
(Development -> Release, Release -> Deployment)

« EEFECTIVENESS AND EFFICIENCY: quick return on investment
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Lead time (Mass deployment)
Responsiveness to market needs (MDE)

» Won/lost Tenders (PDU UDB)



KPI <n>
Reporting period: Q1/2010

KPI Owner/Driver:

<KPI> Performance KPI User
Measurement Specification (link
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60 /—/__ ——Plto date *Fact - Explain what happened. Did the
/ — measurement results improve or worsen? Was

40 A the target achieved?

00 - Trend * Reason - Explain why the measurement results
improved or worsened. Why did the change

0 S T AlenTreshold occur? Explain why the target was or was not
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What are the business consequences of not Key actions and needed Mgmt support

reaching the objective?

eAction 1 + driver
eAction 2 + driver
*Action 3 + driver




